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Functions

What 1s a function?

A functiorfis a rule that assigns to each elementn a set4 exactly one element, callgx).
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How do we 1dentify the domair” and range
of a function?

« First must know what these terms mean...define each.

e Must know how to indicate domain and range using correct notation
(Set and Bracket)
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Bracket Notation

Notation used to describe "SETS" of numbers...
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Check-Up
I.Ifsint'ﬁ?:—L and cos@ <0 find tan @
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2. Determine the domain an((range 9f the quadratic f{x) = -5x2 + 10x - 3.
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Check for Understanding...

Select the best response for each of the following:

. . . . 1
1. Find the domain of fla) = V2 2. Find the range of the function y = 73

a) [0,00) b} (0,50) a) (3,00} b) (—oc,3)
d) (-32,0) e) [0,3) 20 ¢) (=00, %), (%,00) d) (—o0,3), (3,20)
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3.If f(x)= 2x° + Ay’ + Bx—35 and if J(2)=3 and f(-2)=-37, what is the value of 4+ B?

(A) -6 (B) -3 @ -1 (D) 2

(E) It cannot be determined from the information given.

4. Solve: 22 — z > 12

a) < —6orx>1 b)Jr < —3 or = >4

c) z< —2orx>3 d) 6<xr<1 > —-S Z X < 7(

e;J —2<x<3 .
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3.If f(x)= 2%° + Ax” + Bx—5 and if sza =3 and f(-2)=-37, what is the value of 4+ B?
—
(A) -6 (B) -3 ) -1 D) 2

(E) It cannot be determined from the information given.
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Function Notation

« Must understand the notation associated with determing the values of functions

I. From a graph
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II. From a table of values
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Explicit formula !

fo) = -2+ 58
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